

Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: **BS English**



Date of Birth: 2001-07-03

Name: SUMERA AQEEL Registration No. GCWAHUSS211101010

Institute: Govt. Graduate College for Women, Rahim Yar Khan

Father's Name: MUHAMMAD AQEEL AHMED

Fall 2021									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-1118	Functional English	B+	3.30	3	9.90				
MATH-1111	Mathematics-I	Α	4.00	3	12.00				
SSCI-1111	Introduction to Sociology	Α-	3.70	3	11.10				
PAKS-1113	Pakistan Studies	B+	3.30	2	6.60				
COCC 420F	Introduction to	Б	2.00	4	2.00				

Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-1118	Functional English	B+	3.30	3	9.90
MATH-1111	Mathematics-I	Α	4.00	3	12.00
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10
PAKS-1113	Pakistan Studies	B+	3.30	2	6.60
COSC-1205	Introduction to ICT-Lab	В	3.00	1	3.00
COSC-1105	Introduction to ICT	C+	2.30	2	4.60
ENGL-1101	Study skills	Α	4.00	3	12.00
		SGPA	3.48	CGPA	3.48

FALL 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	А	4.00	3	12.00			
ENGL-2109	History of English Literature-I	A-	3.70	3	11.10			
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	A-	3.70	3	11.10			
ENGL-2108	Classical and Elizabethan Drama	А	4.00	3	12.00			
ENGL-2101	Introduction to Linguistics	А	4.00	3	12.00			
		SGPA	3.85	CGPA	3.55			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00			
ENGL-1119	Communication Skills	A-	3.70	3	11.10			
MATH-1112	Mathematic-II	B-	2.70	3	8.10			
PAKS-1122	International Relations	B+	3.30	3	9.90			
ISLS-1112/ETI	്രാഷ്പ്രൻ Studies/ Ethics	В	3.00	2	6.00			
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00			
		SGPA	3.30	CGPA	3.39			

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00				
ENGL-2110	Literary Criticism	Α	4.00	3	12.00				
ENGL-2103	History of English Literature-II	B+	3.30	3	9.90				
MSCI-2101	Human Resource Management	B+	3.30	3	9.90				
ENGL-2106	Morphology and Syntax	Α	4.00	3	12.00				
ENGL-2107	Romantic Poetry	A+	4.00	3	12.00				
		SGPA	3.77	CGPA	3.61				

Fall 2023	Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optional	А	4.00	3	12.00			
ENGL-3116	Sociolinguistics	Α	4.00	3	12.00			
ENGL-3115	Semantics and Pragmatics	А	4.00	3	12.00			
ENGL-3114	Literary Theory	Α	4.00	3	12.00			
ENGL-3113	Modern Fiction	Α	4.00	3	12.00			
ENGL-3112	Post-Colonial Studies	Α	4.00	3	12.00			
		SGPA	4.00	CGPA	3.69			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION**

Program: BS English



Registration No. GCWAHUSS211101010

Date of Birth: 2001-07-03

Name: SUMERA AQEEL

Father's Name: MUHAMMAD AQEEL AHMED

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: ISHA TARIQ Registration No. GCWAHUSS211101011

Date of Birth: 2003-02-04

Father's Name: TARIQ MEHMOOD Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	C-	1.70	3	5.10			
MATH-1111	Mathematics-I	С	2.00	3	6.00			
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90			
PAKS-1113	Pakistan Studies	B-	2.70	2	5.40			
COSC-1205	Introduction to ICT-Lab	C-	1.70	1	1.70			
COSC-1105	Introduction to ICT	С	2.00	2	4.00			
ENGL-1101	Study skills	B-	2.70	3	8.10			
	•	SGPA	2.36	CGPA	2.36			

Spring 2022									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENSC-1101	Introduction to Environmental Sciences	С	2.00	3	6.00				
ENGL-1119	Communication Skills	В	3.00	3	9.00				
MATH-1112	Mathematic-II	C+	2.30	3	6.90				
PAKS-1122	International Relations	В	3.00	3	9.00				
ISLS-1112/ETI	Oslant2c Studies/ Ethics	B+	3.30	2	6.60				
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10				
		SGPA	2.86	CGPA	2.61				

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90		
ENGL-2109	History of English Literature-I	C+	2.30	3	6.90		
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B-	2.70	3	8.10		
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
	_	SGPA	3.17	CGPA	2.80		

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00				
ENGL-2110	Literary Criticism	A-	3.70	3	11.10				
ENGL-2103	History of English Literature-II	A-	3.70	3	11.10				
MSCI-2101	Human Resource Management	В	3.00	3	9.00				
ENGL-2106	Morphology and Syntax	B+	3.30	3	9.90				
ENGL-2107	Romantic Poetry	A-	3.70	3	11.10				
		SGPA	3.57	CGPA	3.00				

Fall 2023	Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
SSCI-2151	Introduction to Social Work/Univ.Optional	А	4.00	3	12.00				
ENGL-3116	Sociolinguistics	A-	3.70	3	11.10				
ENGL-3115	Semantics and Pragmatics	A-	3.70	3	11.10				
ENGL-3114	Literary Theory	A-	3.70	3	11.10				
ENGL-3113	Modern Fiction	D+	1.30	3	3.90				
ENGL-3112	Post-Colonial Studies	B-	2.70	3	8.10				
		SGPA	3.18	CGPA	3.04				

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Registration No. GCWAHUSS211101011

Date of Birth: 2003-02-04

Name: ISHA TARIQ

Father's Name: TARIQ MEHMOOD

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION
Program: BS English



Name: SAMIA KHALID Registration No. GCWAHUSS211101012

Date of Birth: 2003-09-20

Father's Name: KHALID HUSSAIN Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	В	3.00	3	9.00			
MATH-1111	Mathematics-I	D	1.00	3	3.00			
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10			
PAKS-1113	Pakistan Studies	C+	2.30	2	4.60			
COSC-1205	Introduction to ICT-Lab	C+	2.30	1	2.30			
COSC-1105	Introduction to ICT	C+	2.30	2	4.60			
ENGL-1101	Study skills	B+	3.30	3	9.90			
		SGPA	2.62	CGPA	2.62			

Spring 2022									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00				
ENGL-1119	Communication Skills	A-	3.70	3	11.10				
MATH-1112	Mathematic-II	F	0.00	3	0.00				
PAKS-1122	International Relations	B+	3.30	3	9.90				
ISLS-1112/ETI	Oslfairhitc Studies/ Ethics	B+	3.30	2	6.60				
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00				
		SGPA	2.86	CGPA	2.74				

FALL 2022	FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10			
ENGL-2109	History of English Literature-I	B-	2.70	3	8.10			
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	А	4.00	3	12.00			
ENGL-2108	Classical and Elizabethan Drama	А	4.00	3	12.00			
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10			
		SGPA	3.63	CGPA	3.05			

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00				
ENGL-2110	Literary Criticism	Α	4.00	3	12.00				
ENGL-2103	History of English Literature-II	В	3.00	3	9.00				
MSCI-2101	Human Resource Management	Α-	3.70	3	11.10				
ENGL-2106	Morphology and Syntax	А	4.00	3	12.00				
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00				
		SGPA	3.78	CGPA	3.24				

Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optional	B+	3.30	3	9.90			
ENGL-3116	Sociolinguistics	Α	4.00	3	12.00			
ENGL-3115	Semantics and Pragmatics	A-	3.70	3	11.10			
ENGL-3114	Literary Theory	Α	4.00	3	12.00			
ENGL-3113	Modern Fiction	B-	2.70	3	8.10			
ENGL-3112	Post-Colonial Studies	A	4.00	3	12.00			
		SGPA	3.62	CGPA	3.31			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101012

Date of Birth: 2003-09-20

Name: SAMIA KHALID

Father's Name: KHALID HUSSAIN

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: BUSHRA MUSTAFA Registration No. GCWAHUSS211101013

Date of Birth: 2001-12-23

Father's Name: GHULAM MUSTAFA
Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	B+	3.30	3	9.90			
MATH-1111	Mathematics-I	A-	3.70	3	11.10			
SSCI-1111	Introduction to Sociology	А	4.00	3	12.00			
PAKS-1113	Pakistan Studies	C+	2.30	2	4.60			
COSC-1205	Introduction to ICT-Lab	B-	2.70	1	2.70			
COSC-1105	Introduction to ICT	C+	2.30	2	4.60			
ENGL-1101	Study skills	A-	3.70	3	11.10			
	•	SGPA	3.29	CGPA	3.29			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	B-	2.70	3	8.10			
ENGL-1119	Communication Skills	B+	3.30	3	9.90			
MATH-1112	Mathematic-II	D	1.00	3	3.00			
PAKS-1122	International Relations	A-	3.70	3	11.10			
ISLS-1112/ETI	Oslfairhitc Studies/ Ethics	В	3.00	2	6.00			
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00			
		SGPA	2.95	CGPA	3.12			

FALL 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10			
ENGL-2109	History of English Literature-I	Α-	3.70	3	11.10			
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	A-	3.70	3	11.10			
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10			
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10			
	_	SGPA	3.63	CGPA	3.30			

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00				
ENGL-2110	Literary Criticism	Α	4.00	3	12.00				
ENGL-2103	History of English Literature-II	B+	3.30	3	9.90				
MSCI-2101	Human Resource Management	A-	3.70	3	11.10				
ENGL-2106	Morphology and Syntax	A-	3.70	3	11.10				
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00				
		SGPA	3.78	CGPA	3.42				

Fall 2023	Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
SSCI-2151	Introduction to Social Work/Univ.Optional	A	4.00	3	12.00				
ENGL-3116	Sociolinguistics	Α	4.00	3	12.00				
ENGL-3115	Semantics and Pragmatics	A-	3.70	3	11.10				
ENGL-3114	Literary Theory	Α	4.00	3	12.00				
ENGL-3113	Modern Fiction	B+	3.30	3	9.90				
ENGL-3112	Post-Colonial Studies	A	4.00	3	12.00				
		SGPA	3.83	CGPA	3.51				

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Name: BUSHRA MUSTAFA Registration No. GCWAHUSS211101013 Father's Name: GHULAM MUSTAFA Date of Birth: 2001-12-23

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: MUNAZZA KHAN Registration No. GCWAHUSS211101014

Father's Name: MUHAMMAD NASEEM AKHTER KHAN

Date of Birth: 2004-01-28

Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021	Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-1118	Functional English	A-	3.70	3	11.10				
MATH-1111	Mathematics-I	B-	2.70	3	8.10				
SSCI-1111	Introduction to Sociology	А	4.00	3	12.00				
PAKS-1113	Pakistan Studies	B+	3.30	2	6.60				
COSC-1205	Introduction to ICT-Lab	C+	2.30	1	2.30				
COSC-1105	Introduction to ICT	C+	2.30	2	4.60				
ENGL-1101	Study skills	Α	4.00	3	12.00				
	•	SGPA	3.34	CGPA	3.34				

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	B-	2.70	3	8.10			
ENGL-1119	Communication Skills	А	4.00	3	12.00			
MATH-1112	Mathematic-II	D+	1.30	3	3.90			
PAKS-1122	International Relations	A-	3.70	3	11.10			
ISLS-1112/ET	Oslantവ്c Studies/ Ethics	C+	2.30	2	4.60			
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00			
		SGPA	3.04	CGPA	3.19			

FALL 2022	FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10			
ENGL-2109	History of English Literature-I	B+	3.30	3	9.90			
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B+	3.30	3	9.90			
ENGL-2108	Classical and Elizabethan Drama	B+	3.30	3	9.90			
ENGL-2101	Introduction to Linguistics	А	4.00	3	12.00			
		SGPA	3.55	CGPA	3.31			

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00				
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00				
ENGL-2106	Morphology and Syntax	A-	3.70	3	11.10				
MSCI-2101	Human Resource Management	B+	3.30	3	9.90				
ENGL-2103	History of English Literature-II	B+	3.30	3	9.90				
ENGL-2110	Literary Criticism	Α	4.00	3	12.00				
		SGPA	3.72	CGPA	3.42				

Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optional	А	4.00	3	12.00			
ENGL-3116	Sociolinguistics	Α	4.00	3	12.00			
ENGL-3115	Semantics and Pragmatics	А	4.00	3	12.00			
ENGL-3114	Literary Theory	Α	4.00	3	12.00			
ENGL-3113	Modern Fiction	C+	2.30	3	6.90			
ENGL-3112	Post-Colonial Studies	A-	3.70	3	11.10			
	•	SGPA	3.67	CGPA	3.47			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101014

Date of Birth: 2004-01-28

Name: MUNAZZA KHAN

Father's Name: MUHAMMAD NASEEM AKHTER KHAN Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: IQRA BIBI Registration No. GCWAHUSS211101015

Date of Birth: 2002-08-12

Father's Name: KHAMEESA Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	A-	3.70	3	11.10			
MATH-1111	Mathematics-I	В	3.00	3	9.00			
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10			
PAKS-1113	Pakistan Studies	B+	3.30	2	6.60			
COSC-1205	Introduction to ICT-Lab	B-	2.70	1	2.70			
COSC-1105	Introduction to ICT	B-	2.70	2	5.40			
ENGL-1101	Study skills	Α	4.00	3	12.00			
	•	SGPA	3.41	CGPA	3.41			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	B+	3.30	3	9.90			
ENGL-1119	Communication Skills	A-	3.70	3	11.10			
MATH-1112	Mathematic-II	С	2.00	3	6.00			
PAKS-1122	International Relations	В	3.00	3	9.00			
ISLS-1112/ETI	Oslfairtn2c Studies/ Ethics	B+	3.30	2	6.60			
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00			
		SGPA	3.21	CGPA	3.31			

FALL 2022	FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	А	4.00	3	12.00			
ENGL-2109	History of English Literature-I	Α-	3.70	3	11.10			
ENGL-2105	Introduction to ELT	Α-	3.70	3	11.10			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	А	4.00	3	12.00			
ENGL-2108	Classical and Elizabethan Drama	А	4.00	3	12.00			
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10			
		SGPA	3.85	CGPA	3.50			

Spring 2023	Spring 2023									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned					
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00					
ENGL-2110	Literary Criticism	Α	4.00	3	12.00					
ENGL-2103	History of English Literature-II	A-	3.70	3	11.10					
MSCI-2101	Human Resource Management	A-	3.70	3	11.10					
ENGL-2106	Morphology and Syntax	A-	3.70	3	11.10					
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00					
		SGPA	3.85	CGPA	3.59					

Fall 2023	Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optional	А	4.00	3	12.00			
ENGL-3116	Sociolinguistics	Α	4.00	3	12.00			
ENGL-3115	Semantics and Pragmatics	Α	4.00	3	12.00			
ENGL-3114	Literary Theory	Α	4.00	3	12.00			
ENGL-3113	Modern Fiction	B+	3.30	3	9.90			
ENGL-3112	Post-Colonial Studies	Α	4.00	3	12.00			
		SGPA	3.88	CGPA	3.65			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION**

Program: BS English



Registration No. GCWAHUSS211101015

Date of Birth: 2002-08-12

Name: IQRA BIBI Father's Name: KHAMEESA

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: SANA TAHIR Registration No. GCWAHUSS211101016

Date of Birth: 2003-02-12

Father's Name: TAHIR MEMOOD Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	C+	2.30	3	6.90			
MATH-1111	Mathematics-I	F	0.00	3	0.00			
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10			
PAKS-1113	Pakistan Studies	B-	2.70	2	5.40			
COSC-1205	Introduction to ICT-Lab	B+	3.30	1	3.30			
COSC-1105	Introduction to ICT	C+	2.30	2	4.60			
ENGL-1101	Study skills	Α	4.00	3	12.00			
		SGPA	2.55	CGPA	2.55			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	C+	2.30	3	6.90			
ENGL-1119	Communication Skills	A-	3.70	3	11.10			
MATH-1112	Mathematic-II	C-	1.70	3	5.10			
PAKS-1122	International Relations	C+	2.30	3	6.90			
ISLS-1112/ET	Oslfairtn2c Studies/ Ethics	В	3.00	2	6.00			
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10			
		SGPA	2.77	CGPA	2.66			

FALL 2022	FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10			
ENGL-2109	History of English Literature-I	C+	2.30	3	6.90			
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В	3.00	3	9.00			
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10			
ENGL-2101	Introduction to Linguistics	B+	3.30	3	9.90			
MATH-1111	Mathematics-I	F	0.00	3	0.00			
		SGPA	2.81	CGPA	2.72			

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00				
ENGL-2110	Literary Criticism	A-	3.70	3	11.10				
ENGL-2103	History of English Literature-II	В	3.00	3	9.00				
MSCI-2101	Human Resource Management	A-	3.70	3	11.10				
ENGL-2106	Morphology and Syntax	B+	3.30	3	9.90				
ENGL-2107	Romantic Poetry	A-	3.70	3	11.10				
		SGPA	3.57	CGPA	2.93				

Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optional	B-	2.70	3	8.10			
ENGL-3116	Sociolinguistics	B+	3.30	3	9.90			
ENGL-3115	Semantics and Pragmatics	B+	3.30	3	9.90			
ENGL-3114	Literary Theory	A-	3.70	3	11.10			
ENGL-3113	Modern Fiction	C+	2.30	3	6.90			
ENGL-3112	Post-Colonial Studies	B+	3.30	3	9.90			
		SGPA	3.10	CGPA	2.96			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 1353. Credit Hours completed so far: 85



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION**

Program: BS English



Registration No. GCWAHUSS211101016

Date of Birth: 2003-02-12

Name: SANA TAHIR

Father's Name: TAHIR MEMOOD

Institute: Govt. Graduate College for Women, Rahim Yar Khan

4. Duration of the Program: 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: SADIA ARSHAD Registration No. GCWAHUSS211101017

Date of Birth: 2002-07-02

Father's Name: MUHAMMAD ARSHAD
Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	C+	2.30	3	6.90			
MATH-1111	Mathematics-I	B+	3.30	3	9.90			
SSCI-1111	Introduction to Sociology	B-	2.70	3	8.10			
PAKS-1113	Pakistan Studies	B-	2.70	2	5.40			
COSC-1205	Introduction to ICT-Lab	С	2.00	1	2.00			
COSC-1105	Introduction to ICT	C+	2.30	2	4.60			
ENGL-1101	Study skills	В	3.00	3	9.00			
		SGPA	2.70	CGPA	2.70			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	D	1.00	3	3.00			
ENGL-1119	Communication Skills	B+	3.30	3	9.90			
MATH-1112	Mathematic-II	C-	1.70	3	5.10			
PAKS-1122	International Relations	B-	2.70	3	8.10			
ISLS-1112/ETI	Oslant2c Studies/ Ethics	C+	2.30	2	4.60			
PHED-1110	Trauma and Rehabilitation	B+	3.30	3	9.90			
		SGPA	2.39	CGPA	2.54			

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10		
ENGL-2109	History of English Literature-I	B-	2.70	3	8.10		
ENGL-2105	Introduction to ELT	В	3.00	3	9.00		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В	3.00	3	9.00		
ENGL-2108	Classical and Elizabethan Drama	B+	3.30	3	9.90		
ENGL-2101	Introduction to Linguistics	В	3.00	3	9.00		
		SGPA	3.12	CGPA	2.74		

Spring 2023									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00				
ENGL-2110	Literary Criticism	A-	3.70	3	11.10				
ENGL-2103	History of English Literature-II	В	3.00	3	9.00				
MSCI-2101	Human Resource Management	B+	3.30	3	9.90				
ENGL-2106	Morphology and Syntax	A-	3.70	3	11.10				
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00				
		SGPA	3.62	CGPA	2.97				

Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
SSCI-2151	Introduction to Social Work/Univ.Optional	A-	3.70	3	11.10		
ENGL-3116	Sociolinguistics	A-	3.70	3	11.10		
ENGL-3115	Semantics and Pragmatics	Α	4.00	3	12.00		
ENGL-3114	Literary Theory	Α	4.00	3	12.00		
ENGL-3113	Modern Fiction	С	2.00	3	6.00		
ENGL-3112	Post-Colonial Studies	В	3.00	3	9.00		
		SGPA	3.40	CGPA	3.06		

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101017

Date of Birth: 2002-07-02

Name: SADIA ARSHAD

Father's Name: MUHAMMAD ARSHAD

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: SAIQA JAVED Registration No. GCWAHUSS211101018

Date of Birth: 2000-06-24

Father's Name: JAVED MASEEH
Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	B+	3.30	3	9.90			
MATH-1111	Mathematics-I	Α	4.00	3	12.00			
SSCI-1111	Introduction to Sociology	А	4.00	3	12.00			
PAKS-1113	Pakistan Studies	A-	3.70	2	7.40			
COSC-1205	Introduction to ICT-Lab	В	3.00	1	3.00			
COSC-1105	Introduction to ICT	В	3.00	2	6.00			
ENGL-1101	Study skills	Α	4.00	3	12.00			
		SGPA	3.66	CGPA	3.66			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	A-	3.70	3	11.10			
ENGL-1119	Communication Skills	А	4.00	3	12.00			
MATH-1112	Mathematic-II	Α	4.00	3	12.00			
PAKS-1122	International Relations	A-	3.70	3	11.10			
ISLS-1112/ETI	Oslantûc Studies/ Ethics	А	4.00	2	8.00			
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00			
		SGPA	3.89	CGPA	3.78			

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	А	4.00	3	12.00		
ENGL-2109	History of English Literature-I	А	4.00	3	12.00		
ENGL-2105	Introduction to ELT	А	4.00	3	12.00		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	А	4.00	3	12.00		
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10		
ENGL-2101	Introduction to Linguistics	А	4.00	3	12.00		
	_	SGPA	3.95	CGPA	3.84		

Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00			
ENGL-2110	Literary Criticism	Α	4.00	3	12.00			
ENGL-2103	History of English Literature-II	Α	4.00	3	12.00			
MSCI-2101	Human Resource Management	В	3.00	3	9.00			
ENGL-2106	Morphology and Syntax	А	4.00	3	12.00			
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00			
		SGPA	3.83	CGPA	3.84			

Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
SSCI-2151	Introduction to Social Work/Univ.Optional	A	4.00	3	12.00		
ENGL-3116	Sociolinguistics	Α	4.00	3	12.00		
ENGL-3115	Semantics and Pragmatics	Α	4.00	3	12.00		
ENGL-3114	Literary Theory	Α	4.00	3	12.00		
ENGL-3113	Modern Fiction	Α	4.00	3	12.00		
ENGL-3112	Post-Colonial Studies	Α	4.00	3	12.00		
		SGPA	4.00	CGPA	3.87		

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101018

Date of Birth: 2000-06-24

Name: SAIQA JAVED

Father's Name: JAVED MASEEH

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: ZAINAB MURTAZA Registration No. GCWAHUSS211101019 Father's Name: GHULAM MURTAZA

Date of Birth: 1999-08-16

Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	F	0.00	3	0.00			
MATH-1111	Mathematics-I	F	0.00	3	0.00			
SSCI-1111	Introduction to Sociology	F	0.00	3	0.00			
PAKS-1113	Pakistan Studies	F	0.00	2	0.00			
COSC-1205	Introduction to ICT-Lab	F	0.00	1	0.00			
COSC-1105	Introduction to ICT	F	0.00	2	0.00			
ENGL-1101	Study skills	F	0.00	3	0.00			
		SGPA	0.00	CGPA	0.00			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	F	0.00	3	0.00			
ENGL-1119	Communication Skills	F	0.00	3	0.00			
MATH-1112	Mathematic-II	F	0.00	3	0.00			
PAKS-1122	International Relations	F	0.00	3	0.00			
ISLS-1112/ET	വടിമിൻ2c Studies/ Ethics	F	0.00	2	0.00			
PHED-1110	Trauma and Rehabilitation	F	0.00	3	0.00			
		SGPA	0.00	CGPA	0.00			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135 3. Credit Hours completed so far: 4. Duration of the Program: 4 years 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: SANA TANVEER Registration No. GCWAHUSS211101020

Date of Birth: 2003-02-13

Father's Name: TANVEER MASIH
Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	C-	1.70	3	5.10			
MATH-1111	Mathematics-I	D	1.00	3	3.00			
SSCI-1111	Introduction to Sociology	В	3.00	3	9.00			
PAKS-1113	Pakistan Studies	D	1.00	2	2.00			
COSC-1205	Introduction to ICT-Lab	С	2.00	1	2.00			
COSC-1105	Introduction to ICT	C-	1.70	2	3.40			
ENGL-1101	Study skills	С	2.00	3	6.00			
		SGPA	1.79	CGPA	1.79			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	D	1.00	3	3.00			
ENGL-1119	Communication Skills	B+	3.30	3	9.90			
MATH-1112	Mathematic-II	D	1.00	3	3.00			
PAKS-1122	International Relations	C+	2.30	3	6.90			
ISLS-1112/ETI	Oslantൻc Studies/ Ethics	С	2.00	2	4.00			
PHED-1110	Trauma and Rehabilitation	B+	3.30	3	9.90			
		SGPA	2.16	CGPA	1.98			

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	В	3.00	3	9.00		
ENGL-2109	History of English Literature-I	C+	2.30	3	6.90		
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C+	2.30	3	6.90		
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00		
ENGL-2101	Introduction to Linguistics	B+	3.30	3	9.90		
		SGPA	2.87	CGPA	2.28		

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00				
ENGL-2110	Literary Criticism	A-	3.70	3	11.10				
ENGL-2103	History of English Literature-II	B+	3.30	3	9.90				
MSCI-2101	Human Resource Management	В	3.00	3	9.00				
ENGL-2106	Morphology and Syntax	B+	3.30	3	9.90				
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00				
		SGPA	3.55	CGPA	2.61				

Fall 2023	Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
SSCI-2151	Introduction to Social Work/Univ.Optional	A-	3.70	3	11.10				
ENGL-3116	Sociolinguistics	A-	3.70	3	11.10				
ENGL-3115	Semantics and Pragmatics	Α	4.00	3	12.00				
ENGL-3114	Literary Theory	Α	4.00	3	12.00				
ENGL-3113	Modern Fiction	C+	2.30	3	6.90				
ENGL-3112	Post-Colonial Studies	B+	3.30	3	9.90				
		SGPA	3.50	CGPA	2.79				

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101020

Date of Birth: 2003-02-13

Name: SANA TANVEER

Father's Name: TANVEER MASIH

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: SAMAN LALDEEN Registration No. GCWAHUSS211101021 Father's Name: LALDEEN

Date of Birth: 2004-06-01

Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	F	0.00	3	0.00			
MATH-1111	Mathematics-I	F	0.00	3	0.00			
SSCI-1111	Introduction to Sociology	F	0.00	3	0.00			
PAKS-1113	Pakistan Studies	F	0.00	2	0.00			
COSC-1205	Introduction to ICT-Lab	F	0.00	1	0.00			
COSC-1105	Introduction to ICT	F	0.00	2	0.00			
ENGL-1101	Study skills	F	0.00	3	0.00			
		SGPA	0.00	CGPA	0.00			

Spring 2022	Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENSC-1101	Introduction to Environmental Sciences	F	0.00	3	0.00				
ENGL-1119	Communication Skills	F	0.00	3	0.00				
MATH-1112	Mathematic-II	F	0.00	3	0.00				
PAKS-1122	International Relations	F	0.00	3	0.00				
ISLS-1112/ET	വടർഷൻ Studies/ Ethics	F	0.00	2	0.00				
PHED-1110	Trauma and Rehabilitation	F	0.00	3	0.00				
		SGPA	0.00	CGPA	0.00				

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135 3. Credit Hours completed so far: 4. Duration of the Program: 4 years 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: ALIZA FATIMA Registration No. GCWAHUSS211101022

Date of Birth: 2001-12-17

Father's Name: YOUNAS MEHMOOD

Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	F	0.00	3	0.00			
MATH-1111	Mathematics-I	В	3.00	3	9.00			
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10			
PAKS-1113	Pakistan Studies	C+	2.30	2	4.60			
COSC-1205	Introduction to ICT-Lab	D+	1.30	1	1.30			
COSC-1105	Introduction to ICT	B-	2.70	2	5.40			
ENGL-1101	Study skills	A-	3.70	3	11.10			
		SGPA	2.50	CGPA	2.50			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	D+	1.30	3	3.90			
ENGL-1119	Communication Skills	A-	3.70	3	11.10			
MATH-1112	Mathematic-II	F	0.00	3	0.00			
PAKS-1122	International Relations	C+	2.30	3	6.90			
ISLS-1112/ETI	Oslantൻc Studies/ Ethics	С	2.00	2	4.00			
PHED-1110	Trauma and Rehabilitation	B-	2.70	3	8.10			
		SGPA	2.00	CGPA	2.25			

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90		
ENGL-2109	History of English Literature-I	D	1.00	3	3.00		
ENGL-2105	Introduction to ELT	Α-	3.70	3	11.10		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В	3.00	3	9.00		
ENGL-2108	Classical and Elizabethan Drama	B-	2.70	3	8.10		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
		SGPA	2.90	CGPA	2.48		

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	A-	3.70	3	11.10				
ENGL-2110	Literary Criticism	F	0.00	3	0.00				
ENGL-2103	History of English Literature-II	C+	2.30	3	6.90				
MSCI-2101	Human Resource Management	F	0.00	3	0.00				
ENGL-2106	Morphology and Syntax	F	0.00	3	0.00				
ENGL-2107	Romantic Poetry	B-	2.70	3	8.10				
		SGPA	1.45	CGPA	2.21				

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135 3. Credit Hours completed so far: 55 4. Duration of the Program: 4 years 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- 2. Discrepancies if any, are to be reported within 7 days of issue of this document.

 3. This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: ALIYA SHAFIQ Registration No. GCWAHUSS211101023

Date of Birth: 2003-01-09

Father's Name: MOHAMMAD SHAFIQ
Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	С	2.00	3	6.00			
MATH-1111	Mathematics-I	В	3.00	3	9.00			
SSCI-1111	Introduction to Sociology	C+	2.30	3	6.90			
PAKS-1113	Pakistan Studies	С	2.00	2	4.00			
COSC-1205	Introduction to ICT-Lab	C-	1.70	1	1.70			
COSC-1105	Introduction to ICT	D+	1.30	2	2.60			
ENGL-1101	Study skills	A-	3.70	3	11.10			
		SGPA	2.43	CGPA	2.43			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	F	0.00	3	0.00			
ENGL-1119	Communication Skills	В	3.00	3	9.00			
MATH-1112	Mathematic-II	D	1.00	3	3.00			
PAKS-1122	International Relations	B-	2.70	3	8.10			
ISLS-1112/ETI	Oslantവ്c Studies/ Ethics	C-	1.70	2	3.40			
PHED-1110	Trauma and Rehabilitation	В	3.00	3	9.00			
		SGPA	1.91	CGPA	2.17			

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90		
ENGL-2109	History of English Literature-I	B-	2.70	3	8.10		
ENGL-2105	Introduction to ELT	В	3.00	3	9.00		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B-	2.70	3	8.10		
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00		
ENGL-2101	Introduction to Linguistics	B-	2.70	3	8.10		
		SGPA	2.90	CGPA	2.42		

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	A-	3.70	3	11.10				
ENGL-2110	Literary Criticism	В	3.00	3	9.00				
ENGL-2103	History of English Literature-II	В	3.00	3	9.00				
MSCI-2101	Human Resource Management	F	0.00	3	0.00				
ENGL-2106	Morphology and Syntax	B+	3.30	3	9.90				
ENGL-2107	Romantic Poetry	A-	3.70	3	11.10				
		SGPA	2.78	CGPA	2.52				

Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optional	A-	3.70	3	11.10			
ENGL-3116	Sociolinguistics	A-	3.70	3	11.10			
ENGL-3115	Semantics and Pragmatics	A-	3.70	3	11.10			
ENGL-3114	Literary Theory	A-	3.70	3	11.10			
ENGL-3113	Modern Fiction	F	0.00	3	0.00			
ENGL-3112	Post-Colonial Studies	B-	2.70	3	8.10			
		SGPA	2.92	CGPA	2.60			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101023

Date of Birth: 2003-01-09

Name: ALIYA SHAFIQ

Father's Name: MOHAMMAD SHAFIQ

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: NIMRA BANO Registration No. GCWAHUSS211101024

Date of Birth: 2004-02-03

Father's Name: MUHAMMAD BOOTA
Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	C+	2.30	3	6.90			
MATH-1111	Mathematics-I	С	2.00	3	6.00			
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90			
PAKS-1113	Pakistan Studies	B-	2.70	2	5.40			
COSC-1205	Introduction to ICT-Lab	С	2.00	1	2.00			
COSC-1105	Introduction to ICT	С	2.00	2	4.00			
ENGL-1101	Study skills	A-	3.70	3	11.10			
		SGPA	2.66	CGPA	2.66			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	С	2.00	3	6.00			
ENGL-1119	Communication Skills	A-	3.70	3	11.10			
MATH-1112	Mathematic-II	C-	1.70	3	5.10			
PAKS-1122	International Relations	В	3.00	3	9.00			
ISLS-1112/ET	Oslfairhitc Studies/ Ethics	B+	3.30	2	6.60			
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10			
		SGPA	2.88	CGPA	2.77			

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10		
ENGL-2109	History of English Literature-I	Α-	3.70	3	11.10		
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	A-	3.70	3	11.10		
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
	•	SGPA	3.63	CGPA	3.07		

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00				
ENGL-2110	Literary Criticism	А	4.00	3	12.00				
ENGL-2103	History of English Literature-II	A-	3.70	3	11.10				
MSCI-2101	Human Resource Management	B+	3.30	3	9.90				
ENGL-2106	Morphology and Syntax	A-	3.70	3	11.10				
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00				
		SGPA	3.78	CGPA	3.25				

Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optional	А	4.00	3	12.00			
ENGL-3116	Sociolinguistics	Α	4.00	3	12.00			
ENGL-3115	Semantics and Pragmatics	A-	3.70	3	11.10			
ENGL-3114	Literary Theory	Α	4.00	3	12.00			
ENGL-3113	Modern Fiction	B+	3.30	3	9.90			
ENGL-3112	Post-Colonial Studies	Α	4.00	3	12.00			
		SGPA	3.83	CGPA	3.37			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION**

Program: BS English



Registration No. GCWAHUSS211101024

Date of Birth: 2004-02-03

Name: NIMRA BANO

Father's Name: MUHAMMAD BOOTA

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: AYESHA AMJAD Registration No. GCWAHUSS211101025

Date of Birth: 2004-01-17

Father's Name: MUHAMMAD AMJAD Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	В	3.00	3	9.00			
MATH-1111	Mathematics-I	C+	2.30	3	6.90			
SSCI-1111	Introduction to Sociology	В	3.00	3	9.00			
PAKS-1113	Pakistan Studies	B-	2.70	2	5.40			
COSC-1205	Introduction to ICT-Lab	C-	1.70	1	1.70			
COSC-1105	Introduction to ICT	С	2.00	2	4.00			
ENGL-1101	Study skills	B+	3.30	3	9.90			
	•	SGPA	2.70	CGPA	2.70			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	C+	2.30	3	6.90			
ENGL-1119	Communication Skills	B+	3.30	3	9.90			
MATH-1112	Mathematic-II	C+	2.30	3	6.90			
PAKS-1122	International Relations	B-	2.70	3	8.10			
ISLS-1112/ETI	Oslantûc Studies/ Ethics	С	2.00	2	4.00			
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10			
		SGPA	2.76	CGPA	2.73			

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	А	4.00	3	12.00		
ENGL-2109	History of English Literature-I	В	3.00	3	9.00		
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C+	2.30	3	6.90		
ENGL-2108	Classical and Elizabethan Drama	B-	2.70	3	8.10		
ENGL-2101	Introduction to Linguistics	В	3.00	3	9.00		
		SGPA	3.12	CGPA	2.86		

Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00			
ENGL-2110	Literary Criticism	A-	3.70	3	11.10			
ENGL-2103	History of English Literature-II	B+	3.30	3	9.90			
MSCI-2101	Human Resource Management	В	3.00	3	9.00			
ENGL-2106	Morphology and Syntax	А	4.00	3	12.00			
ENGL-2107	Romantic Poetry	A-	3.70	3	11.10			
		SGPA	3.62	CGPA	3.06			

Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
SSCI-2151	Introduction to Social Work/Univ.Optional	В	3.00	3	9.00		
ENGL-3116	Sociolinguistics	B+	3.30	3	9.90		
ENGL-3115	Semantics and Pragmatics	B+	3.30	3	9.90		
ENGL-3114	Literary Theory	A-	3.70	3	11.10		
ENGL-3113	Modern Fiction	С	2.00	3	6.00		
ENGL-3112	Post-Colonial Studies	A-	3.70	3	11.10		
		SGPA	3.17	CGPA	3.08		

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Name: AYESHA AMJAD Registration No. GCWAHUSS211101025

Date of Birth: 2004-01-17

Father's Name: MUHAMMAD AMJAD

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION
Program: BS English



Name: KIRAN AKHTAR Registration No. GCWAHUSS211101026

Date of Birth: 2001-12-15

Father's Name: MUHAMMAD AKHTAR
Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	С	2.00	3	6.00			
MATH-1111	Mathematics-I	B+	3.30	3	9.90			
SSCI-1111	Introduction to Sociology	B-	2.70	3	8.10			
PAKS-1113	Pakistan Studies	В	3.00	2	6.00			
COSC-1205	Introduction to ICT-Lab	C-	1.70	1	1.70			
COSC-1105	Introduction to ICT	C-	1.70	2	3.40			
ENGL-1101	Study skills	B+	3.30	3	9.90			
		SGPA	2.65	CGPA	2.65			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	D	1.00	3	3.00			
ENGL-1119	Communication Skills	В	3.00	3	9.00			
MATH-1112	Mathematic-II	C-	1.70	3	5.10			
PAKS-1122	International Relations	В	3.00	3	9.00			
ISLS-1112/ETI	Oslfairhitc Studies/ Ethics	B-	2.70	2	5.40			
PHED-1110	Trauma and Rehabilitation	B+	3.30	3	9.90			
		SGPA	2.44	CGPA	2.54			

FALL 2022	FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10			
ENGL-2109	History of English Literature-I	B-	2.70	3	8.10			
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B-	2.70	3	8.10			
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00			
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10			
		SGPA	3.25	CGPA	2.79			

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	A-	3.70	3	11.10				
ENGL-2110	Literary Criticism	A-	3.70	3	11.10				
ENGL-2103	History of English Literature-II	В	3.00	3	9.00				
MSCI-2101	Human Resource Management	В	3.00	3	9.00				
ENGL-2106	Morphology and Syntax	A-	3.70	3	11.10				
ENGL-2107	Romantic Poetry	A-	3.70	3	11.10				
		SGPA	3.47	CGPA	2.96				

Fall 2023	Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optional	В	3.00	3	9.00			
ENGL-3116	Sociolinguistics	B+	3.30	3	9.90			
ENGL-3115	Semantics and Pragmatics	A-	3.70	3	11.10			
ENGL-3114	Literary Theory	B+	3.30	3	9.90			
ENGL-3113	Modern Fiction	C-	1.70	3	5.10			
ENGL-3112	Post-Colonial Studies	B+	3.30	3	9.90			
		SGPA	3.05	CGPA	2.98			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101026

Date of Birth: 2001-12-15

Name: KIRAN AKHTAR

Father's Name: MUHAMMAD AKHTAR

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Father's Name: ILAHI BAKHSH

Khwaja Fareed University of Engineering & **Information Technology**

Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: SAIRA ILAHI Registration No. GCWAHUSS211101027

Date of Birth: 2000-05-10

Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	F	0.00	3	0.00			
MATH-1111	Mathematics-I	F	0.00	3	0.00			
SSCI-1111	Introduction to Sociology	F	0.00	3	0.00			
PAKS-1113	Pakistan Studies	F	0.00	2	0.00			
COSC-1205	Introduction to ICT-Lab	F	0.00	1	0.00			
COSC-1105	Introduction to ICT	F	0.00	2	0.00			
ENGL-1101	Study skills	F	0.00	3	0.00			
		SGPA	0.00	CGPA	0.00			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	F	0.00	3	0.00			
ENGL-1119	Communication Skills	F	0.00	3	0.00			
MATH-1112	Mathematic-II	F	0.00	3	0.00			
PAKS-1122	International Relations	F	0.00	3	0.00			
ISLS-1112/ET	യടിപ്പൻ2c Studies/ Ethics	F	0.00	2	0.00			
PHED-1110	Trauma and Rehabilitation	F	0.00	3	0.00			
		SGPA	0.00	CGPA	0.00			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135 3. Credit Hours completed so far: 4. Duration of the Program: 4 years

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Registration No. GCWAHUSS211101028

Date of Birth: 2002-01-24

Name: MEHREEN MUDASSAR Father's Name: MUDASSAR IQBAL

Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-1118	Functional English	C+	2.30	3	6.90				
MATH-1111	Mathematics-I	C-	1.70	3	5.10				
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10				
PAKS-1113	Pakistan Studies	В	3.00	2	6.00				
COSC-1205	Introduction to ICT-Lab	С	2.00	1	2.00				
COSC-1105	Introduction to ICT	С	2.00	2	4.00				
ENGL-1101	Study skills	A-	3.70	3	11.10				

SGPA 2.72

CGPA

2.72

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	С	2.00	3	6.00			
ENGL-1119	Communication Skills	A-	3.70	3	11.10			
MATH-1112	Mathematic-II	D+	1.30	3	3.90			
PAKS-1122	International Relations	В	3.00	3	9.00			
ISLS-1112/ET	Oslantവ്c Studies/ Ethics	B-	2.70	2	5.40			
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00			
		SGPA	2.79	CGPA	2.75			

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10		
ENGL-2109	History of English Literature-I	C+	2.30	3	6.90		
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B+	3.30	3	9.90		
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00		
ENGL-2101	Introduction to Linguistics	B+	3.30	3	9.90		
		SGPA	3.15	CGPA	2.89		

Spring 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00		
ENGL-2110	Literary Criticism	A-	3.70	3	11.10		
ENGL-2103	History of English Literature-II	В	3.00	3	9.00		
MSCI-2101	Human Resource Management	B+	3.30	3	9.90		
ENGL-2106	Morphology and Syntax	Α	4.00	3	12.00		
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00		
		SGPA	3.67	CGPA	3.09		

Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
SSCI-2151	Introduction to Social Work/Univ.Optional	B+	3.30	3	9.90	
ENGL-3116	Sociolinguistics	Α	4.00	3	12.00	
ENGL-3115	Semantics and Pragmatics	B+	3.30	3	9.90	
ENGL-3114	Literary Theory	A-	3.70	3	11.10	
ENGL-3113	Modern Fiction	С	2.00	3	6.00	
ENGL-3112	Post-Colonial Studies	B+	3.30	3	9.90	
		SGPA	3.27	CGPA	3.13	

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Name: MEHREEN MUDASSAR Father's Name: MUDASSAR IQBAL

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

Registration No. GCWAHUSS211101028

Date of Birth: 2002-01-24

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: SANIA SHAHID Registration No. GCWAHUSS211101029

Father's Name: MUHAMMAD SHAHID Date of Birth: 2001-11-27

Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021	Fall 2021						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-1118	Functional English	D+	1.30	3	3.90		
MATH-1111	Mathematics-I	F	0.00	3	0.00		
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90		
PAKS-1113	Pakistan Studies	C+	2.30	2	4.60		
COSC-1205	Introduction to ICT-Lab	C-	1.70	1	1.70		
COSC-1105	Introduction to ICT	D	1.00	2	2.00		
ENGL-1101	Study skills	A-	3.70	3	11.10		
		SGPA	1.95	CGPA	1.95		

Spring 2022	Spring 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	F	0.00	3	0.00			
ENGL-1119	Communication Skills	B+	3.30	3	9.90			
MATH-1112	Mathematic-II	D	1.00	3	3.00			
PAKS-1122	International Relations	B-	2.70	3	8.10			
ISLS-1112/ET	Oslantവ്c Studies/ Ethics	C+	2.30	2	4.60			
PHED-1110	Trauma and Rehabilitation	В	3.00	3	9.00			
		SGPA	2.04	CGPA	1.99			

FALL 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2111	Technical Writing & Presentation Skills	В	3.00	3	9.00	
ENGL-2109	History of English Literature-I	C-	1.70	3	5.10	
ENGL-2105	Introduction to ELT	B-	2.70	3	8.10	
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C+	2.30	3	6.90	
ENGL-2108	Classical and Elizabethan Drama	B-	2.70	3	8.10	
ENGL-2101	Introduction to Linguistics	B+	3.30	3	9.90	
MATH-1111	Mathematics-I	F	0.00	3	0.00	
	C.	SGPA	2.24	CGPA	2.09	

Spring 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2102	Phonetics and Phonology	A-	3.70	3	11.10		
ENGL-2110	Literary Criticism	В	3.00	3	9.00		
ENGL-2103	History of English Literature-II	B-	2.70	3	8.10		
MSCI-2101	Human Resource Management	В	3.00	3	9.00		
ENGL-2106	Morphology and Syntax	B+	3.30	3	9.90		
ENGL-2107	Romantic Poetry	A-	3.70	3	11.10		
		SGPA	3.23	CGPA	2.37		

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 3. Credit Hours completed so far: 4. Duration of the Program: 4 years 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: ZONESHA YASMEEN Registration No. GCWAHUSS211101030

Date of Birth: 2004-09-29

Father's Name: JAVAID IQBAL Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-1118	Functional English	B-	2.70	3	8.10	
MATH-1111	Mathematics-I	С	2.00	3	6.00	
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90	
PAKS-1113	Pakistan Studies	С	2.00	2	4.00	
COSC-1205	Introduction to ICT-Lab	C+	2.30	1	2.30	
COSC-1105	Introduction to ICT	С	2.00	2	4.00	
ENGL-1101	Study skills	B+	3.30	3	9.90	
		SGPA	2.60	CGPA	2.60	

Spring 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENSC-1101	Introduction to Environmental Sciences	C+	2.30	3	6.90		
ENGL-1119	Communication Skills	A-	3.70	3	11.10		
MATH-1112	Mathematic-II	B-	2.70	3	8.10		
PAKS-1122	International Relations	B-	2.70	3	8.10		
ISLS-1112/ET	യടിപ്പൻ2c Studies/ Ethics	В	3.00	2	6.00		
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00		
	•	SGPA	3.07	CGPA	2.84		

FALL 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10	
ENGL-2109	History of English Literature-I	В	3.00	3	9.00	
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10	
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B+	3.30	3	9.90	
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00	
ENGL-2101	Introduction to Linguistics	А	4.00	3	12.00	
		SGPA	3.45	CGPA	3.05	

Spring 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00		
ENGL-2107	Romantic Poetry	А	4.00	3	12.00		
ENGL-2106	Morphology and Syntax	B+	3.30	3	9.90		
MSCI-2101	Human Resource Management	B+	3.30	3	9.90		
ENGL-2103	History of English Literature-II	B+	3.30	3	9.90		
ENGL-2110	Literary Criticism	A-	3.70	3	11.10		
		SGPA	3.60	CGPA	3.19		

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
SSCI-2151	Introduction to Social Work/Univ.Optional	В	3.00	3	9.00		
ENGL-3116	Sociolinguistics	A-	3.70	3	11.10		
ENGL-3115	Semantics and Pragmatics	A-	3.70	3	11.10		
ENGL-3114	Literary Theory	B+	3.30	3	9.90		
ENGL-3113	Modern Fiction	B-	2.70	3	8.10		
ENGL-3112	Post-Colonial Studies	В	3.00	3	9.00		
		SGPA	3.23	CGPA	3.20		

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101030

Date of Birth: 2004-09-29

Name: ZONESHA YASMEEN Father's Name: JAVAID IQBAL

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: AYESHA ZAFAR Registration No. GCWAHUSS211101031

Date of Birth: 2003-04-07

Father's Name: ZAFAR IQBAL Institute: Govt. Graduate College for Women, Rahim Yar Khan

<u> </u>									
Fall 2021									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-1118	Functional English	C+	2.30	3	6.90				
MATH-1111	Mathematics-I	D+	1.30	3	3.90				
SSCI-1111	Introduction to Sociology	В	3.00	3	9.00				
PAKS-1113	Pakistan Studies	B-	2.70	2	5.40				
COSC-1205	Introduction to ICT-Lab	C+	2.30	1	2.30				
COSC-1105	Introduction to ICT	B-	2.70	2	5.40				
ENGL-1101	Study skills	A-	3.70	3	11.10				
	•	SGPA	2.59	CGPA	2.59				

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	C-	1.70	3	5.10			
ENGL-1119	Communication Skills	B+	3.30	3	9.90			
MATH-1112	Mathematic-II	F	0.00	3	0.00			
PAKS-1122	International Relations	B-	2.70	3	8.10			
ISLS-1112/ETI	Oslfairhitc Studies/ Ethics	C+	2.30	2	4.60			
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10			
		SGPA	2.28	CGPA	2.44			

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10		
ENGL-2109	History of English Literature-I	B-	2.70	3	8.10		
ENGL-2105	Introduction to ELT	В	3.00	3	9.00		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B-	2.70	3	8.10		
ENGL-2108	Classical and Elizabethan Drama	B-	2.70	3	8.10		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
		SGPA	3.08	CGPA	2.66		

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	A-	3.70	3	11.10				
ENGL-2110	Literary Criticism	B+	3.30	3	9.90				
ENGL-2103	History of English Literature-II	C+	2.30	3	6.90				
MSCI-2101	Human Resource Management	B+	3.30	3	9.90				
ENGL-2106	Morphology and Syntax	A-	3.70	3	11.10				
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00				
		SGPA	3.38	CGPA	2.85				

Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optional	B+	3.30	3	9.90			
ENGL-3116	Sociolinguistics	Α	4.00	3	12.00			
ENGL-3115	Semantics and Pragmatics	A-	3.70	3	11.10			
ENGL-3114	Literary Theory	A-	3.70	3	11.10			
ENGL-3113	Modern Fiction	C+	2.30	3	6.90			
ENGL-3112	Post-Colonial Studies	A-	3.70	3	11.10			
		SGPA	3.45	CGPA	2.97			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135
3. Credit Hours completed so far: 85
4. Duration of the Program: 4 years



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101031

Date of Birth: 2003-04-07

Name: AYESHA ZAFAR Father's Name: ZAFAR IQBAL

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: PAKEEZA KANWAL Registration No. GCWAHUSS211101032

Date of Birth: 2003-04-24

Father's Name: ASGHAR ALI Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	B+	3.30	3	9.90			
MATH-1111	Mathematics-I	С	2.00	3	6.00			
SSCI-1111	Introduction to Sociology	Α-	3.70	3	11.10			
PAKS-1113	Pakistan Studies	B-	2.70	2	5.40			
COSC-1205	Introduction to ICT-Lab	С	2.00	1	2.00			
COSC-1105	Introduction to ICT	B-	2.70	2	5.40			
ENGL-1101	Study skills	A-	3.70	3	11.10			
		SGPA	2.99	CGPA	2.99			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	С	2.00	3	6.00			
ENGL-1119	Communication Skills	A-	3.70	3	11.10			
MATH-1112	Mathematic-II	C+	2.30	3	6.90			
PAKS-1122	International Relations	B+	3.30	3	9.90			
ISLS-1112/ETI	Oslant2c Studies/ Ethics	C+	2.30	2	4.60			
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00			
		SGPA	2.97	CGPA	2.98			

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	А	4.00	3	12.00		
ENGL-2109	History of English Literature-I	Α-	3.70	3	11.10		
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	A-	3.70	3	11.10		
ENGL-2108	Classical and Elizabethan Drama	B+	3.30	3	9.90		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
	•	SGPA	3.68	CGPA	3.23		

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00				
ENGL-2110	Literary Criticism	A-	3.70	3	11.10				
ENGL-2103	History of English Literature-II	B+	3.30	3	9.90				
MSCI-2101	Human Resource Management	A-	3.70	3	11.10				
ENGL-2106	Morphology and Syntax	A-	3.70	3	11.10				
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00				
		SGPA	3.73	CGPA	3.36				

Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optional	A-	3.70	3	11.10			
ENGL-3116	Sociolinguistics	Α	4.00	3	12.00			
ENGL-3115	Semantics and Pragmatics	А	4.00	3	12.00			
ENGL-3114	Literary Theory	A-	3.70	3	11.10			
ENGL-3113	Modern Fiction	C+	2.30	3	6.90			
ENGL-3112	Post-Colonial Studies	Α	4.00	3	12.00			
		SGPA	3.62	CGPA	3.41			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135
3. Credit Hours completed so far: 88
4. Duration of the Program: 4 years



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101032

Date of Birth: 2003-04-24

Name: PAKEEZA KANWAL Father's Name: ASGHAR ALI

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: MARYAM YASEEN Registration No. GCWAHUSS211101033 Father's Name: GHULAM YASEEN Date of Birth: 2003-06-03

Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021	Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-1118	Functional English	F	0.00	3	0.00				
MATH-1111	Mathematics-I	F	0.00	3	0.00				
SSCI-1111	Introduction to Sociology	F	0.00	3	0.00				
PAKS-1113	Pakistan Studies	F	0.00	2	0.00				
COSC-1205	Introduction to ICT-Lab	F	0.00	1	0.00				
COSC-1105	Introduction to ICT	F	0.00	2	0.00				
ENGL-1101	Study skills	F	0.00	3	0.00				
		SGPA	0.00	CGPA	0.00				

Spring 2022	Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENSC-1101	Introduction to Environmental Sciences	F	0.00	3	0.00				
ENGL-1119	Communication Skills	F	0.00	3	0.00				
MATH-1112	Mathematic-II	F	0.00	3	0.00				
PAKS-1122	International Relations	F	0.00	3	0.00				
ISLS-1112/ET	യടിപ്പൻ2c Studies/ Ethics	F	0.00	2	0.00				
PHED-1110	Trauma and Rehabilitation	F	0.00	3	0.00				
		SGPA	0.00	CGPA	0.00				

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135 3. Credit Hours completed so far: 4. Duration of the Program: 4 years

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

> **RESULT INTIMATION** Program: BS English



Name: TASKEEN AKHTAR Registration No. GCWAHUSS211101034

Date of Birth: 2000-06-28

Father's Name: MUHAMMAD AKHTAR Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	C+	2.30	3	6.90			
MATH-1111	Mathematics-I	D	1.00	3	3.00			
SSCI-1111	Introduction to Sociology	А	4.00	3	12.00			
PAKS-1113	Pakistan Studies	С	2.00	2	4.00			
COSC-1205	Introduction to ICT-Lab	В	3.00	1	3.00			
COSC-1105	Introduction to ICT	С	2.00	2	4.00			
ENGL-1101	Study skills	B+	3.30	3	9.90			
		SGPA	2.52	CGPA	2.52			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	D+	1.30	3	3.90			
ENGL-1119	Communication Skills	A-	3.70	3	11.10			
MATH-1112	Mathematic-II	D+	1.30	3	3.90			
PAKS-1122	International Relations	В	3.00	3	9.00			
ISLS-1112/ETI	Oslantവ്c Studies/ Ethics	C+	2.30	2	4.60			
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00			
		SGPA	2.62	CGPA	2.57			

FALL 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	А	4.00	3	12.00			
ENGL-2109	History of English Literature-I	B-	2.70	3	8.10			
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B-	2.70	3	8.10			
ENGL-2108	Classical and Elizabethan Drama	B+	3.30	3	9.90			
ENGL-2101	Introduction to Linguistics	B+	3.30	3	9.90			
		SGPA	3.22	CGPA	2.79			

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	F	0.00	3	0.00				
ENGL-2107	Romantic Poetry	F	0.00	3	0.00				
ENGL-2106	Morphology and Syntax	F	0.00	3	0.00				
MSCI-2101	Human Resource Management	F	0.00	3	0.00				
ENGL-2103	History of English Literature-II	F	0.00	3	0.00				
ENGL-2110	Literary Criticism	F	0.00	3	0.00				
		SGPA	0.00	CGPA	2.07				

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135 3. Credit Hours completed so far: 52 4. Duration of the Program: 4 years 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- 2. Discrepancies if any, are to be reported within 7 days of issue of this document.

 3. This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: **BS English**



Registration No. GCWAHUSS211101035 Name: MEHAK MUMTAZ Eather's Name: MUMTAZ AHMED

Date of Birth: 2002-12-13

i attici 5 Natile	. IVIOIVII AZ	ALIMED			
Institute: Govt.	Graduate	College for	Women,	Rahim	Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	B-	2.70	3	8.10			
MATH-1111	Mathematics-I	Α	4.00	3	12.00			
SSCI-1111	Introduction to Sociology	А	4.00	3	12.00			
PAKS-1113	Pakistan Studies	B+	3.30	2	6.60			
COSC-1205	Introduction to ICT-Lab	B-	2.70	1	2.70			
COSC-1105	Introduction to ICT	B+	3.30	2	6.60			
ENGL-1101	Study skills	A-	3.70	3	11.10			
	•	SGPA	3.48	CGPA	3.48			

Spring 2022									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENSC-1101	Introduction to Environmental Sciences	A-	3.70	3	11.10				
ENGL-1119	Communication Skills	A-	3.70	3	11.10				
MATH-1112	Mathematic-II	Α	4.00	3	12.00				
PAKS-1122	International Relations	A-	3.70	3	11.10				
ISLS-1112/ETI	Oslant2c Studies/ Ethics	B+	3.30	2	6.60				
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00				
		SGPA	3.76	CGPA	3.62				

FALL 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	А	4.00	3	12.00			
ENGL-2109	History of English Literature-I	B+	3.30	3	9.90			
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B+	3.30	3	9.90			
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10			
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10			
		SGPA	3.62	CGPA	3.62			

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00				
ENGL-2110	Literary Criticism	A-	3.70	3	11.10				
ENGL-2103	History of English Literature-II	A-	3.70	3	11.10				
MSCI-2101	Human Resource Management	B+	3.30	3	9.90				
ENGL-2106	Morphology and Syntax	A-	3.70	3	11.10				
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00				
		SGPA	3.73	CGPA	3.65				

Fall 2023	Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
SSCI-2151	Introduction to Social Work/Univ.Optional	А	4.00	3	12.00				
ENGL-3116	Sociolinguistics	Α	4.00	3	12.00				
ENGL-3115	Semantics and Pragmatics	A-	3.70	3	11.10				
ENGL-3114	Literary Theory	Α	4.00	3	12.00				
ENGL-3113	Modern Fiction	A-	3.70	3	11.10				
ENGL-3112	Post-Colonial Studies	А	4.00	3	12.00				
		SGPA	3.90	CGPA	3.70				

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

Incomplete 1. Program Status:

2. Total Credit Hours to complete the program: 135 3. Credit Hours completed so far: 88 4. Duration of the Program: 4 years



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101035

Date of Birth: 2002-12-13

Name: MEHAK MUMTAZ Father's Name: MUMTAZ AHMED

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: AREEBA AFZAL Registration No. GCWAHUSS211101036

Date of Birth: 2003-04-21

Father's Name: MUHAMMAD AFZAL Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	C+	2.30	3	6.90			
MATH-1111	Mathematics-I	С	2.00	3	6.00			
SSCI-1111	Introduction to Sociology	А	4.00	3	12.00			
PAKS-1113	Pakistan Studies	C+	2.30	2	4.60			
COSC-1205	Introduction to ICT-Lab	B-	2.70	1	2.70			
COSC-1105	Introduction to ICT	B-	2.70	2	5.40			
ENGL-1101	Study skills	B+	3.30	3	9.90			
	•	SGPA	2.79	CGPA	2.79			

Spring 2022									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENSC-1101	Introduction to Environmental Sciences	C-	1.70	3	5.10				
ENGL-1119	Communication Skills	A-	3.70	3	11.10				
MATH-1112	Mathematic-II	D+	1.30	3	3.90				
PAKS-1122	International Relations	C+	2.30	3	6.90				
ISLS-1112/ETI	Oslfairhitc Studies/ Ethics	C+	2.30	2	4.60				
PHED-1110	Trauma and Rehabilitation	D+	1.30	3	3.90				
		SGPA	2.09	CGPA	2.44				

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10		
ENGL-2109	History of English Literature-I	С	2.00	3	6.00		
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C+	2.30	3	6.90		
ENGL-2108	Classical and Elizabethan Drama	B-	2.70	3	8.10		
ENGL-2101	Introduction to Linguistics	В	3.00	3	9.00		
		SGPA	2.83	CGPA	2.58		

Spring 2023									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	A-	3.70	3	11.10				
ENGL-2110	Literary Criticism	A-	3.70	3	11.10				
ENGL-2103	History of English Literature-II	B-	2.70	3	8.10				
MSCI-2101	Human Resource Management	В	3.00	3	9.00				
ENGL-2106	Morphology and Syntax	В	3.00	3	9.00				
ENGL-2107	Romantic Poetry	В	3.00	3	9.00				
		SGPA	3.18	CGPA	2.73				

Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
SSCI-2151	Introduction to Social Work/Univ.Optional	В	3.00	3	9.00		
ENGL-3116	Sociolinguistics	Α	4.00	3	12.00		
ENGL-3115	Semantics and Pragmatics	B+	3.30	3	9.90		
ENGL-3114	Literary Theory	B+	3.30	3	9.90		
ENGL-3113	Modern Fiction	C-	1.70	3	5.10		
ENGL-3112	Post-Colonial Studies	B-	2.70	3	8.10		
		SGPA	3.00	CGPA	2.79		

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135
3. Credit Hours completed so far: 88
4. Duration of the Program: 4 years



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Name: AREEBA AFZAL Registration No. GCWAHUSS211101036

Date of Birth: 2003-04-21

Father's Name: MUHAMMAD AFZAL

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

Notes

Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Father's Name: ABDUL SATTAR

Khwaja Fareed University of Engineering & **Information Technology**

Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: HAFIZA ALISHA SATTAR Registration No. GCWAHUSS211101037

Date of Birth: 2003-08-02

Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	F	0.00	3	0.00			
MATH-1111	Mathematics-I	F	0.00	3	0.00			
SSCI-1111	Introduction to Sociology	F	0.00	3	0.00			
PAKS-1113	Pakistan Studies	F	0.00	2	0.00			
COSC-1205	Introduction to ICT-Lab	F	0.00	1	0.00			
COSC-1105	Introduction to ICT	F	0.00	2	0.00			
ENGL-1101	Study skills	F	0.00	3	0.00			
		SGPA	0.00	CGPA	0.00			

Spring 2022	Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENSC-1101	Introduction to Environmental Sciences	F	0.00	3	0.00				
ENGL-1119	Communication Skills	F	0.00	3	0.00				
MATH-1112	Mathematic-II	F	0.00	3	0.00				
PAKS-1122	International Relations	F	0.00	3	0.00				
ISLS-1112/ET	വടർഷ് Studies/ Ethics	F	0.00	2	0.00				
PHED-1110	Trauma and Rehabilitation	F	0.00	3	0.00				
		SGPA	0.00	CGPA	0.00				

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135 3. Credit Hours completed so far: 4. Duration of the Program: 4 years

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: AQSA FAYYAZ Registration No. GCWAHUSS211101038

Date of Birth: 2001-06-14

Father's Name: HAFIZ FAYYAZ AHMAD Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	C+	2.30	3	6.90			
MATH-1111	Mathematics-I	C-	1.70	3	5.10			
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90			
PAKS-1113	Pakistan Studies	D	1.00	2	2.00			
COSC-1205	Introduction to ICT-Lab	С	2.00	1	2.00			
COSC-1105	Introduction to ICT	D+	1.30	2	2.60			
ENGL-1101	Study skills	A-	3.70	3	11.10			
	· ·	SGPA	2.33	CGPA	2.33			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	C+	2.30	3	6.90			
ENGL-1119	Communication Skills	A-	3.70	3	11.10			
MATH-1112	Mathematic-II	D+	1.30	3	3.90			
PAKS-1122	International Relations	C+	2.30	3	6.90			
ISLS-1112/ET	Oslantവ്c Studies/ Ethics	B-	2.70	2	5.40			
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10			
		SGPA	2.66	CGPA	2.50			

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10		
ENGL-2109	History of English Literature-I	C-	1.70	3	5.10		
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В	3.00	3	9.00		
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
		SGPA	3.13	CGPA	2.72		

Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00			
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00			
ENGL-2106	Morphology and Syntax	B+	3.30	3	9.90			
MSCI-2101	Human Resource Management	В	3.00	3	9.00			
ENGL-2103	History of English Literature-II	B-	2.70	3	8.10			
ENGL-2110	Literary Criticism	A-	3.70	3	11.10			
		SGPA	3.45	CGPA	2.91			

Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optional	B+	3.30	3	9.90			
ENGL-3116	Sociolinguistics	A-	3.70	3	11.10			
ENGL-3115	Semantics and Pragmatics	A-	3.70	3	11.10			
ENGL-3114	Literary Theory	B+	3.30	3	9.90			
ENGL-3113	Modern Fiction	D	1.00	3	3.00			
ENGL-3112	Post-Colonial Studies	C+	2.30	3	6.90			
		SGPA	2.88	CGPA	2.90			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135
3. Credit Hours completed so far: 88
4. Duration of the Program: 4 years



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101038

Date of Birth: 2001-06-14

Name: AQSA FAYYAZ

Father's Name: HAFIZ FAYYAZ AHMAD

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

Notes

Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION
Program: BS English



Name: LAIBA Registration No. GCWAHUSS211101039

Date of Birth: 2004-11-18

Father's Name: MUHAMMAD SIDDIQUE ALVI Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	B-	2.70	3	8.10			
MATH-1111	Mathematics-I	A-	3.70	3	11.10			
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10			
PAKS-1113	Pakistan Studies	B-	2.70	2	5.40			
COSC-1205	Introduction to ICT-Lab	B-	2.70	1	2.70			
COSC-1105	Introduction to ICT	B-	2.70	2	5.40			
ENGL-1101	Study skills	Α	4.00	3	12.00			
		SGPA	3.28	CGPA	3.28			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	C+	2.30	3	6.90			
ENGL-1119	Communication Skills	А	4.00	3	12.00			
MATH-1112	Mathematic-II	A-	3.70	3	11.10			
PAKS-1122	International Relations	B+	3.30	3	9.90			
ISLS-1112/ET	Oslfairhitc Studies/ Ethics	C+	2.30	2	4.60			
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00			
		SGPA	3.32	CGPA	3.30			

FALL 2022	FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	А	4.00	3	12.00			
ENGL-2109	History of English Literature-I	А	4.00	3	12.00			
ENGL-2105	Introduction to ELT	Α-	3.70	3	11.10			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	A-	3.70	3	11.10			
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10			
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10			
		SGPA	3.80	CGPA	3.48			

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00				
ENGL-2110	Literary Criticism	Α	4.00	3	12.00				
ENGL-2103	History of English Literature-II	B+	3.30	3	9.90				
MSCI-2101	Human Resource Management	B+	3.30	3	9.90				
ENGL-2106	Morphology and Syntax	A-	3.70	3	11.10				
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00				
		SGPA	3.72	CGPA	3.54				

Fall 2023	Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optional	A	4.00	3	12.00			
ENGL-3116	Sociolinguistics	A-	3.70	3	11.10			
ENGL-3115	Semantics and Pragmatics	A	4.00	3	12.00			
ENGL-3114	Literary Theory	Α	4.00	3	12.00			
ENGL-3113	Modern Fiction	C+	2.30	3	6.90			
ENGL-3112	Post-Colonial Studies	A-	3.70	3	11.10			
	SGPA 3.62 CGPA 3.55							

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135
3. Credit Hours completed so far: 88
4. Duration of the Program: 4 years



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101039

Date of Birth: 2004-11-18

Father's Name: MUHAMMAD SIDDIQUE ALVI

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error. Date of issue: 14 May 2024

Notes

Name: LAIBA

Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

> **RESULT INTIMATION** Program: BS English



Name: MARYAM AFZAL Registration No. GCWAHUSS211101040

Date of Birth: 2002-12-26

Father's Name: MUHAMMAD AFZAL Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	A-	3.70	3	11.10			
MATH-1111	Mathematics-I	В	3.00	3	9.00			
SSCI-1111	Introduction to Sociology	Α-	3.70	3	11.10			
PAKS-1113	Pakistan Studies	В	3.00	2	6.00			
COSC-1205	Introduction to ICT-Lab	В	3.00	1	3.00			
COSC-1105	Introduction to ICT	C+	2.30	2	4.60			
ENGL-1101	Study skills	A-	3.70	3	11.10			
		SGPA	3.29	CGPA	3.29			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00			
ENGL-1119	Communication Skills	А	4.00	3	12.00			
MATH-1112	Mathematic-II	B-	2.70	3	8.10			
PAKS-1122	International Relations	A-	3.70	3	11.10			
ISLS-1112/ETI	Oslantവ്c Studies/ Ethics	В	3.00	2	6.00			
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00			
		SGPA	3.42	CGPA	3.36			

FALL 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	А	4.00	3	12.00			
ENGL-2109	History of English Literature-I	Α-	3.70	3	11.10			
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	А	4.00	3	12.00			
ENGL-2108	Classical and Elizabethan Drama	А	4.00	3	12.00			
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10			
	_	SGPA	3.85	CGPA	3.53			

Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00			
ENGL-2110	Literary Criticism	Α	4.00	3	12.00			
ENGL-2103	History of English Literature-II	Α-	3.70	3	11.10			
MSCI-2101	Human Resource Management	A-	3.70	3	11.10			
ENGL-2106	Morphology and Syntax	B+	3.30	3	9.90			
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00			
		SGPA	3.78	CGPA	3.59			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135 3. Credit Hours completed so far: 70 4. Duration of the Program: 4 years 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- 2. Discrepancies if any, are to be reported within 7 days of issue of this document.

 3. This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Father's Name: MUMTAZ HUSSAIN

Khwaja Fareed University of Engineering & **Information Technology**

Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: FATIMA MUMTAZ Registration No. GCWAHUSS211101041

Date of Birth: 2001-01-11

Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	D+	1.30	3	3.90			
MATH-1111	Mathematics-I	F	0.00	3	0.00			
SSCI-1111	Introduction to Sociology	D+	1.30	3	3.90			
PAKS-1113	Pakistan Studies	С	2.00	2	4.00			
COSC-1205	Introduction to ICT-Lab	C+	2.30	1	2.30			
COSC-1105	Introduction to ICT	D+	1.30	2	2.60			
ENGL-1101	Study skills	B-	2.70	3	8.10			
		SGPA	1.46	CGPA	1.46			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	F	0.00	3	0.00			
ENGL-1119	Communication Skills	F	0.00	3	0.00			
MATH-1112	Mathematic-II	F	0.00	3	0.00			
PAKS-1122	International Relations	F	0.00	3	0.00			
ISLS-1112/ET	യടിപ്പൻ2c Studies/ Ethics	F	0.00	2	0.00			
PHED-1110	Trauma and Rehabilitation	F	0.00	3	0.00			
		SGPA	0.00	CGPA	0.73			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135 3. Credit Hours completed so far: 4. Duration of the Program: 4 years 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Father's Name: ALI AHMED

Khwaja Fareed University of Engineering & Information Technology

Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: ZAINAB ALI Registration No. GCWAHUSS211101042

Date of Birth: 2003-01-10

Institute: Govt. Graduate College for Women, Rahim Yar Khan

,								
Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	C-	1.70	3	5.10			
MATH-1111	Mathematics-I	F	0.00	3	0.00			
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90			
PAKS-1113	Pakistan Studies	D	1.00	2	2.00			
COSC-1205	Introduction to ICT-Lab	С	2.00	1	2.00			
COSC-1105	Introduction to ICT	C+	2.30	2	4.60			
ENGL-1101	Study skills	В	3.00	3	9.00			
		SGPA	1.92	CGPA	1.92			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	F	0.00	3	0.00			
ENGL-1119	Communication Skills	A-	3.70	3	11.10			
MATH-1112	Mathematic-II	F	0.00	3	0.00			
PAKS-1122	International Relations	D+	1.30	3	3.90			
ISLS-1112/ET	യടിപ്പൻ2c Studies/ Ethics	С	2.00	2	4.00			
PHED-1110	Trauma and Rehabilitation	F	0.00	3	0.00			
	•	SGPA	1.12	CGPA	1.52			

FALL 2022	FALL 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2111	Technical Writing & Presentation Skills	В	3.00	3	9.00				
ENGL-2109	History of English Literature-I	C+	2.30	3	6.90				
ENGL-2105	Introduction to ELT	B-	2.70	3	8.10				
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C+	2.30	3	6.90				
ENGL-2108	Classical and Elizabethan Drama	C+	2.30	3	6.90				
ENGL-2101	Introduction to Linguistics	B+	3.30	3	9.90				
MATH-1111	Mathematics-I	F	0.00	3	0.00				
		SGPA	2.27	CGPA	1.81				

Spring 2023	Spring 2023									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned					
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00					
ENGL-2107	Romantic Poetry	A-	3.70	3	11.10					
ENGL-2106	Morphology and Syntax	В	3.00	3	9.00					
MSCI-2101	Human Resource Management	C+	2.30	3	6.90					
ENGL-2103	History of English Literature-II	С	2.00	3	6.00					
ENGL-2110	Literary Criticism	A-	3.70	3	11.10					
		SGPA	3.12	CGPA	2.13					

Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optional	A	4.00	3	12.00			
ENGL-3116	Sociolinguistics	A+	4.00	3	12.00			
ENGL-3115	Semantics and Pragmatics	А	4.00	3	12.00			
ENGL-3114	Literary Theory	A+	4.00	3	12.00			
ENGL-3113	Modern Fiction	A-	3.70	3	11.10			
ENGL-3112	Post-Colonial Studies	А	4.00	3	12.00			
		SGPA	3.95	CGPA	2.49			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 1353. Credit Hours completed so far: 76



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101042

Date of Birth: 2003-01-10

Name: ZAINAB ALI Father's Name: ALI AHMED

Date of issue: 14 May 2024

Institute: Govt. Graduate College for Women, Rahim Yar Khan

4. Duration of the Program: 7. University reserves the right to correct any inadvertent error.

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: ESHA SAMREEN Registration No. GCWAHUSS211101043

Date of Birth: 2004-04-01

Father's Name: MUHAMMAD AKHTER
Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	C+	2.30	3	6.90			
MATH-1111	Mathematics-I	B-	2.70	3	8.10			
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90			
PAKS-1113	Pakistan Studies	В	3.00	2	6.00			
COSC-1205	Introduction to ICT-Lab	B-	2.70	1	2.70			
COSC-1105	Introduction to ICT	B-	2.70	2	5.40			
ENGL-1101	Study skills	A-	3.70	3	11.10			
		SGPA	2.95	CGPA	2.95			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00			
ENGL-1119	Communication Skills	А	4.00	3	12.00			
MATH-1112	Mathematic-II	С	2.00	3	6.00			
PAKS-1122	International Relations	A-	3.70	3	11.10			
ISLS-1112/ETI	Oslant2c Studies/ Ethics	B+	3.30	2	6.60			
PHED-1110	Trauma and Rehabilitation	А	4.00	3	12.00			
		SGPA	3.34	CGPA	3.14			

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	А	4.00	3	12.00		
ENGL-2109	History of English Literature-I	Α-	3.70	3	11.10		
ENGL-2105	Introduction to ELT	А	4.00	3	12.00		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	A-	3.70	3	11.10		
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10		
ENGL-2101	Introduction to Linguistics	B+	3.30	3	9.90		
		SGPA	3.73	CGPA	3.35		

Spring 2023	Spring 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2102	Phonetics and Phonology	А	4.00	3	12.00				
ENGL-2110	Literary Criticism	Α	4.00	3	12.00				
ENGL-2103	History of English Literature-II	A-	3.70	3	11.10				
MSCI-2101	Human Resource Management	B+	3.30	3	9.90				
ENGL-2106	Morphology and Syntax	А	4.00	3	12.00				
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00				
		SGPA	3.83	CGPA	3.47				

Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
SSCI-2151	Introduction to Social Work/Univ.Optional	А	4.00	3	12.00		
ENGL-3116	Sociolinguistics	Α	4.00	3	12.00		
ENGL-3115	Semantics and Pragmatics	А	4.00	3	12.00		
ENGL-3114	Literary Theory	Α	4.00	3	12.00		
ENGL-3113	Modern Fiction	B+	3.30	3	9.90		
ENGL-3112	Post-Colonial Studies	Α	4.00	3	12.00		
		SGPA	3.88	CGPA	3.56		

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135
3. Credit Hours completed so far: 88
4. Duration of the Program: 4 years



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101043

Date of Birth: 2004-04-01

Name: ESHA SAMREEN

Father's Name: MUHAMMAD AKHTER

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: SHAMA FAREED Registration No. GCWAHUSS211101044

Date of Birth: 2003-01-10

Father's Name: GHULAM FAREED Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-1118	Functional English	C-	1.70	3	5.10			
MATH-1111	Mathematics-I	F	0.00	3	0.00			
SSCI-1111	Introduction to Sociology	С	2.00	3	6.00			
PAKS-1113	Pakistan Studies	C+	2.30	2	4.60			
COSC-1205	Introduction to ICT-Lab	D+	1.30	1	1.30			
COSC-1105	Introduction to ICT	С	2.00	2	4.00			
ENGL-1101	Study skills	В	3.00	3	9.00			
		SGPA	1.76	CGPA	1.76			

Spring 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENSC-1101	Introduction to Environmental Sciences	F	0.00	3	0.00			
ENGL-1119	Communication Skills	C+	2.30	3	6.90			
MATH-1112	Mathematic-II	С	2.00	3	6.00			
PAKS-1122	International Relations	C+	2.30	3	6.90			
ISLS-1112/ETI	Oslantûc Studies/ Ethics	C+	2.30	2	4.60			
PHED-1110	Trauma and Rehabilitation	B-	2.70	3	8.10			
		SGPA	1.91	CGPA	1.84			

FALL 2022	FALL 2022								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2111	Technical Writing & Presentation Skills	C+	2.30	3	6.90				
ENGL-2109	History of English Literature-I	D+	1.30	3	3.90				
ENGL-2105	Introduction to ELT	C+	2.30	3	6.90				
ENGL-2104	Classical Poetry (from Chaucer to Pope)	С	2.00	3	6.00				
ENGL-2108	Classical and Elizabethan Drama	C+	2.30	3	6.90				
ENGL-2101	Introduction to Linguistics	C+	2.30	3	6.90				
MATH-1111	Mathematics-I	F	0.00	3	0.00				
		SGPA	1.79	CGPA	1.82				

Spring 2023	Spring 2023									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned					
ENGL-2102	Phonetics and Phonology	B-	2.70	3	8.10					
ENGL-2110	Literary Criticism	D	1.00	3	3.00					
ENGL-2103	History of English Literature-II	С	2.00	3	6.00					
MSCI-2101	Human Resource Management	B-	2.70	3	8.10					
ENGL-2106	Morphology and Syntax	B-	2.70	3	8.10					
ENGL-2107	Romantic Poetry	B+	3.30	3	9.90					
		SGPA	2.40	CGPA	1.96					

Fall 2023								
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
SSCI-2151	Introduction to Social Work/Univ.Optiona	С	2.00	3	6.00			
ENGL-3116	Sociolinguistics	B+	3.30	3	9.90			
ENGL-3115	Semantics and Pragmatics	C+	2.30	3	6.90			
ENGL-3114	Literary Theory	В	3.00	3	9.00			
ENGL-3113	Modern Fiction	F	0.00	3	0.00			
ENGL-3112	Post-Colonial Studies	B-	2.70	3	8.10			
		SGPA	2.22	CGPA	2.01			

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 1353. Credit Hours completed so far: 79



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION**

Program: BS English



Registration No. GCWAHUSS211101044

Date of Birth: 2003-01-10

Name: SHAMA FAREED Father's Name: GHULAM FAREED

Institute: Govt. Graduate College for Women, Rahim Yar Khan 4. Duration of the Program: 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: AMNA BATOOL Registration No. GCWAHUSS211101045 Father's Name: ABDUL QAYYUM

Date of Birth: 2004-01-30

Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-1118	Functional English	F	0.00	3	0.00	
MATH-1111	Mathematics-I	F	0.00	3	0.00	
SSCI-1111	Introduction to Sociology	F	0.00	3	0.00	
PAKS-1113	Pakistan Studies	F	0.00	2	0.00	
COSC-1205	Introduction to ICT-Lab	F	0.00	1	0.00	
COSC-1105	Introduction to ICT	F	0.00	2	0.00	
ENGL-1101	Study skills	F	0.00	3	0.00	
		SGPA	0.00	CGPA	0.00	

Spring 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENSC-1101	Introduction to Environmental Sciences	F	0.00	3	0.00	
ENGL-1119	Communication Skills	F	0.00	3	0.00	
MATH-1112	Mathematic-II	F	0.00	3	0.00	
PAKS-1122	International Relations	F	0.00	3	0.00	
ISLS-1112/ET	്രാഷ്പ്രൻ Studies/ Ethics	F	0.00	2	0.00	
PHED-1110	Trauma and Rehabilitation	F	0.00	3	0.00	
		SGPA	0.00	CGPA	0.00	

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135 3. Credit Hours completed so far: 4. Duration of the Program: 4 years 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk

RESULT INTIMATION Program: BS English



Name: KIRAN FAREED Registration No. GCWAHUSS211101046

Date of Birth: 2001-07-08

Father's Name: GHULAM FAREED Institute: Govt. Graduate College for Women, Rahim Yar Khan

Fall 2021						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-1118	Functional English	C-	1.70	3	5.10	
MATH-1111	Mathematics-I	D	1.00	3	3.00	
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90	
PAKS-1113	Pakistan Studies	В	3.00	2	6.00	
COSC-1205	Introduction to ICT-Lab	D+	1.30	1	1.30	
COSC-1105	Introduction to ICT	D+	1.30	2	2.60	
ENGL-1101	Study skills	В	3.00	3	9.00	
		SGPA	2.17	CGPA	2.17	

Spring 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENSC-1101	Introduction to Environmental Sciences	С	2.00	3	6.00	
ENGL-1119	Communication Skills	A-	3.70	3	11.10	
MATH-1112	Mathematic-II	F	0.00	3	0.00	
PAKS-1122	International Relations	B-	2.70	3	8.10	
ISLS-1112/ETI	Oslant2c Studies/ Ethics	В	3.00	2	6.00	
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10	
		SGPA	2.49	CGPA	2.33	

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10
ENGL-2109	History of English Literature-I	В	3.00	3	9.00
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В	3.00	3	9.00
ENGL-2108	Classical and Elizabethan Drama	B-	2.70	3	8.10
ENGL-2101	Introduction to Linguistics	В	3.00	3	9.00
		SGPA	3.12	CGPA	2.60

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2102	Phonetics and Phonology	A-	3.70	3	11.10	
ENGL-2110	Literary Criticism	Α	4.00	3	12.00	
ENGL-2103	History of English Literature-II	B-	2.70	3	8.10	
MSCI-2101	Human Resource Management	В	3.00	3	9.00	
ENGL-2106	Morphology and Syntax	А	4.00	3	12.00	
ENGL-2107	Romantic Poetry	Α	4.00	3	12.00	
		SGPA	3.57	CGPA	2.85	

Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
SSCI-2151	Introduction to Social Work/Univ.Optional	В	3.00	3	9.00	
ENGL-3116	Sociolinguistics	A-	3.70	3	11.10	
ENGL-3115	Semantics and Pragmatics	A-	3.70	3	11.10	
ENGL-3114	Literary Theory	B+	3.30	3	9.90	
ENGL-3113	Modern Fiction	С	2.00	3	6.00	
ENGL-3112	Post-Colonial Studies	B+	3.30	3	9.90	
		SGPA	3.17	CGPA	2.91	

Academic Deficiency: (None / Warning / Probation / Separation / Internship / Withdrawal from the Program)

1. Program Status: Incomplete

2. Total Credit Hours to complete the program: 135
3. Credit Hours completed so far: 85
4. Duration of the Program: 4 years



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS211101046

Date of Birth: 2001-07-08

Name: KIRAN FAREED

Father's Name: GHULAM FAREED

Institute: Govt. Graduate College for Women, Rahim Yar Khan 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.